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1 When diameter of the objective lens of a telescope increases, the resolution of the telescope

- (A) decreaseé '

M increases’

© remains the same

(D) depends on the focus length of the lens

OzmeneGrTafudc AummeT eflédeneuiian el b élﬁ&lﬂé;@Lb Gu &, ng@@pn&;&uﬁ]m Smest smyentt
@  eepub " | |

B  sfsfssn

(C) wrong _
| (D_)_ Qevanadlen gelws an@mm Qll_l.rr@g’sgj Lﬁﬂgfﬁ

2. Who was produced and tested the. ﬁrst hydrogen bomb?
M Edward Teller and Stamslaw U"lam (B) Robert Oppenhenner
(C) Fukui and Mlyamoto (D) D.A. Glaser

mgmﬁvgm_Qm'q@@®L apsen (el 2 meuTEs s qu;éssé Qeig HHOgseurt win?
(A) e oui Qi whmib oL tefevar 2 wib |
B)  gruil @uiuerdandior :
(€©) Jyew whmd BuCom Gur
| (D) D.A. fiGensit '

3.  Therelative hilmidity of the atmosphere is determined with a.

(A)  hydrometer o Whygrometer
(C)  hypsometer . s | ®) hydrophone

aueftoan_asHarg sy muuuggﬁa)‘wé seLHlub smed

(A)  @ant CrribLL i (B) m@é&(ﬁgmﬁf_pﬁ
(C) - afiiCeomb it D) ean CymGLimen
wo I R S AMEGSN7T
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4. Which of the allotropes of carbon has network of 20 hexagones and 12 pentagones of cal%n

atoms?
(A) diamond - : M fullerene
(C) ~graphite . - D) carbon nano tubes

sriuafien erps LD Caubmemn augeusder smiuer &@]MGTITQJ e 20 a;gn(?&rrsm mg)gxm

12 &;rm(‘éesrrewr ueWIMLE sTerTLILI(HEeTDE?

(A) eLwer’ _ (B) .'.qé:gmrﬂeirr_

(C) dpmlenul - D) a&muen prGenm @pen
5. One among the following is not an 1nsect1c1de

(A)  Methoxychlor- ( Pheromone

- (C) Heptachlor (D) Gammaxene

&psararuenaiple argl L FNEQHTOES e

@A) BssréediCemi B QrGurer
(© QaplmsGarni o (D) Gswrsader
6. Paulson spends 75% of his income. His income is increased by 20% and he increased his

expenditure by 10%. Find the percentage increase in his savings.
A 2% - - 50%
(Cy 30% . D) 28%

LImeuEFehT ;yeuwg] Qu(mLOTeSSled 75% Qeaey ue&ot@lélb'nsﬁr.  Sleuang eu(ponemd  20%
ofafssou@apg. o ey Qsoma 10% sfefsfprar aafld oeueang . Calit9d

agmen el(pasn® afsNsdng? |
@ 21% | B 50%

© 30% - . D) 28%
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7. Name the disease caused due to the deficiency of Vitamin-C.
(A)  Night blindness | |

_ Beriberi -
\ﬂ/ Scurvy
(D) Pellegra

Al Liflar-C uQer @a);punl;lq.mrfd) o @b Crmiarg?

(A) LG e B Gu(ﬂ@uﬁ
(C)  avsied _ - D) Gu;ba)ésljrr
8. Which one of the following forms of protem is stored in leguminous plants?
\ﬁ’ Albumin B (B) Glotelin _
(C) Prolamine o (D) Globulin .

-5

Qadafiere graugrsaicd Caflss B Yrs semwey iﬂ’dTm@summﬂ;gyd‘r ag?

B geysas T (B) @ComGidan
- (©)  yChreenwer | - (D) eCermyeten . . 2
9. The largest area under canal irrigation is found in the stat€ of

o (A) Madhya Pradesh
T W Uttar Pradesh .
| (C) Maha_fastra o ‘
(Dy- Andhra Pradesh | C e

a@%amm\@n@mnu}_ LITEQT uuﬁuérran_su QaneRTRaTar Lnrf'r_F_;.laiLb,.
(A) mgélu_l ArCgaD .-
B)  opSy GrGsid
- (C) LD FTéiglg T
@) | b7 ArCsebd
» R i . AMEGSN7
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10. The acidity of the rain water ié measured by the scale
@ -« - . (B) dB

.\ﬂ(pﬁ - . @) - cm

wenip Hflen suflowggsenamnas ..;ggmésstluu.g@u@lb 2| aTeney
A °Qs | B wa
© Ges - | D) G

11, The International Tsunami Information Centre is locéted at

-

(A) India _ . (B) Srilanka
W Hawaii , (D) Japan

uestan () %@ucqumsu ,5&@16) ML e HFIaTeT FL LD
@ @pdun '- ®) Qouws
(©) apaumd N D) gluer ,

12.  In which organ the RBC is synthesised?

_ (A) Spleen _
w Bone marrow
(C) Liver
(D) Heart

Beupdeé s e pliSd Qs eﬂeﬁﬂq Bip Qecvser 2 peurdlemper?
A warefie '

® g ogeg

©) sodje

®  @puw
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13.  In which year the Reseﬁe Bank of India was established?

14,

15.

@A) 1934 o . ® 1933

7 1935 - o) 1937

eThE amL-b @bHu Aare eumid] g mbAssIICLL-g?
@ 1934 ' ® 1933 |
© 19 | @O 1937 o o

Which year the Indira Priyadatshini Vriksha Mitra Award was instituted in the field of
afforestation in India? . ' '
(A) 1984 " - (B) 1985

" 1986 . (D) 1987

@hduncie s1® aamisgn SLLsdpars AsrhssLuGD @S IMusieflel ey WG .
e Pt L e ag? R | | .
@ 1984 ®) 1985
© 1986 - © 1987

National Income in India is estimated by
(A) .Planning Commission - . (B) Finance Commission
(C) Indian Statistical Institute W Central Statistical Organisation

@;b@u.msﬁla‘: BT () ugbLoTarSams SamadlLEsmig 1L Sienoli eTgi?
D) HlLésy o B PPEsw
C) @sdu yerafudid Hpeuend - (D) wHu yarefudig siewiiy
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. . ’ ’ . ) . .
16.  Match List-I with List-II and select the correct answer using the codes given below
List I , List II

(a) - Bhagat Singh 1.  Kakori Conspiracy Case
(b) Ramprasad Bismil 2.  Chittagong Armoury Raid
(¢ Udham Singh 3. . Lahore Conspiracy Case .
(d) Surya Sen 4.  Murder of Michael O’'Dyer 1
@ ® © @ ‘
(A) 4 1 2 3
@ 1 . 3 2° 4 |
w3 1 4 2 -
D 3 2 4 1
aflens I-gg auflens 1T o et Qunmgdl sMwren afleneow Epsrgpid AgngLid BHs Agfe; Aais.
aufleng | . _. auftas IT
() usgfnr 1.  sGanrfl 6f eupés _
(b)) prb pEmg Reviflér 2. SlLamh S0 58T STEGSD
- (© o gzb&n 3. onsisd aupss
- (d) @furQser - 4.  owisGsd g LW QsTend
(a) (b) © (d)
{A) 4 1 2 3
B) 1 3 2 4
© 3 1 4 2
3 2 4 1

©

17.  Point out the wrong statement/statements in the following :
I. - Henry Vivian Derozio started the Asiatic society of Bengal.
II.  Dayananda Saraswathi started the Shuddhi Movement. '
III. E.V. Ramasamy started the Self-Respect Movement.
IV. Mirza Ghulam Ahmed started the Aligarh Movement.

A LIandIV | aflandlv
© . IL1IandIV (D IandI

Spsaar_ sapmaeild guprarerss a1l é ésmi.eqfo
I auBisTeT AL suasens Qanerd efadlwer AgyrdGum anLmﬂmnn. |
II. &34 @UJES§Q7§ SNBSS sheveud) Ogm e,
L sw oflwreng @usssens m.Cal. prosmsl Qgm_diders. i
V. sdlant Quassas isT Gombd siswg Qgm_kidemi.

A LI oppw IV ® Twpgi IV
(© II, III wpgub IV - M) Twpgb I
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18.

19.

- 3

Match List-I with List- II correctly and select your answer using the codes given below :

- List-1 : List-II
(a) Subramania Bharathi 1. Young India
(b) Anne Besant 2.  Desabhakthan -
(¢) Mahatma Gandhi 3. India
(d) Thiru.Vi.Ka. 4.

New India

(@) ®» @ @

4 12
® 4 1 3 2
© 4 3 2 1
®) 3 2 1 4

uCigué I-gp l_Iqu.UJGU II-2 Ler Qummsd Gy QanBiésisuBerar @[ﬁ]ﬂ@&@&f&; Qarar® sl
usﬁmmﬁ CaibAg@.

uciguie-I C o wudguwey-TI
{a) &L’Jl}'wmﬂuﬁ umySwm 1. @G @pHwur
(b) sienafll Quge’ 2. Ggsussen
(© m&frg,mn aThd 3. @sdur _
(d) ,ﬂ@.sﬁl.&i 4, qé]&u @bEwir

@ - O © @

A) 3 - 1 2
‘B) 4 1.3 2
© 4 3 2 1
D)y 3 2 1 4
Who among the foﬂowing translated Megasthenese Greek rwo'rk Indika in to English? '
(A) Shyam Sastri ' (B) 8. Beveridge
&7 McCrindle ’ (D) Neelakanda Sastri
Epasranuaisaiis wri Qusdgafeler ‘Qangar eam HCrés mrevw eg,rmélco,sﬁco Gmn’gﬁl
Guu_mggam _
A  afwmb srevdf - B S lSewﬂl'_@
(C) Guoaflyehnged E D) Bosak &rrgip@zﬂ
9 ,, AMEGS/17
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- 20. W}uch battle of the Sikhs with English is popularly ca]led as “the battle of guns”?

(A) Battle of Ramnagar
(B). Battle of Chillanwala
(C) Capture of Multan

" Battle of Gujarat

F58wméE L LEBCLEEGBOOLCL BLbS b Gurm gjuurra;ﬂu Gurrrr eTen &m;p&&uu@ﬂmg?
(A)  gmbpar Guni
'(B) Saeflweneurer Gumr
| (C) @peagmen ensiLpDHD
D) g CGunt

21. Match the List of authors w1th their books and select the correct answer using the codes

given below the lists : _
Authors : ' Books

(a) Somadeva 1. Yuhtikalataru

(b) Chandeshvara 2. Rajanitikanda

(¢) Devana Bhatta 3.  Rajaniti Ratankara

' (d Bhoja 4. Niti Vakyamitra

- (a) ® © (@

A) 38 2 1 4

B 2 1 3 4

7 4 3 2 1
@ 1 4 2 3

agarpp HARUT DeursEpenIL gnans@t_ar Qurmsd mrﬁmas@&@ EpQAsrHaEsiL_Harer
QeraLEdBHEg sfwra e lomas Qsfey Qs :

aurrhy AR - Breb&EeT
(a) GCerwGseui 1. tSHEOTSH
(b) spGpagauyt 2. mrwﬁﬁadﬁ_tb
() GCgeuarulir. 3..  grghd geiisTyd
(d) Gumggr 4. B8 ensdudggD
(a) (b) (© Gy
A 3 2 1. 4
B 2 1 3 4
' ©) 4 3 ' 2 1
o 1 4 2 3 !
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22.. The governor of the state is appointed by the president, under Article

23.

(A 152 L (B) 153

© 154 | @ 155

- 'mnﬁw %@g,r’r, @qug&{s s@aeunted, apg eflSuiler siyliuemLuld ;ﬁ]ﬂatﬂe‘s&au@eﬁlmm’r’} _
@) 152 B ® 153 B

(©) 154 ' : D) 155

Which of the following statements about the Central Vlgllanoe Commlssmn are
Correct/True.

L The central vigilance commission was set up in 1964.

II. The commission is required to submit an annual report to the ministry Home Affairs
about its activity. '

Im1. It undértakes enquiry on a public servant involved in corruption.

(A) IandII are correct

B) I and III are co‘rrecf

(C) IlandlIll are corz;ect

\ga( I, II and III are correct

LSS EHE @.ﬂuq Spensemub updu cursduiisafie crenay sflwnerenau?
L mgﬁu.l HETSTERA UL DpenentiD 19646 &IGIDLDMUIJI_I_QJ

I1.  @ser Qeweun@sedr @gﬁlggj e difsens mg@u 2 GTgIenD @immwﬁLm swrruﬂm
Couan(HLb.

1. wgs Gopsdbssns GiuGn Qurg oirs emfluir g osmaar bLES ARSI

L.
@  Twppid e

®) - 11 wig I 5 | | |

© Iwpmd I &M ' . .
® LI u;;bgcn s | "

1 ~© AMEGS/N7
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24.  The first High Commlssmner of the United Nations Human Rights Commlsswn was

M Jose Ayalalasso _

- (B) Kofi Annan S .
_ (C©) Banki Moon . o
D) Broutas Ghali

pE&w mrr@a;é'n muu&]m weNg 2 MeLoaeT o@eRTUSHE WPSDTAS B LI BRI WITIT?
| (A)  Ggreb sywererGear |
® Cordowar
(€ uenflapen
(D) ngv‘arraSl .

25. Lok Adalat Means _
K People’_s Court - (B) Village Court
(C) High Court (D) District Court

Coré Dipmag cTen SepssLIReuS aTg?
A) D&&ET FHwenmid ' (B) &y fHwenmid

’ . . o -

©) owrpfoeampd o (D) wreul L fHlwerpod

26.  Which part of the IndJan Constitution deals with elections?

(A) PartXI o .9/ Part XV
(C)  Part XVI[ (D) PartIV

Db sirflwe srsengen arps LGS “Carsd” uph GNsHang?
. A uedXI ®B) uved XV
(C)  ued XVII D) usdlIV

AMEGS/17 12



27. ‘What is the sunple interest earned on Rs. 20, 000 invested. 3 month at a rate of 5% per

annum?
T 250 ' (B) %100

(C) %125 | ' (D) T500

¥ 20,000 &3 5% e eul g eigsHled 3 rgrisEnse safl aulig. wmrg?

@A)  T250 o (B) 100
(© T125 . D) T500
28. x34+x®-7x-3is di_vided.‘by x ~ 3 then the value if remainder is
A 16 - B 14

-

W 12 D) 13

x*+x*-7x-3 Grmuga)an % — 3 o UGEGD Gug eﬂmLeE@w Lﬁﬁuﬁlw gy
A. 16 _ B) 14 :
© 12 @ 13

L4

29.  What percentage of numbers from 1 to 50 have 0 or 5 in the unit's digit?-
@A) 5% ' . B 10%
© 15% | 7 20%

1 g 50 eusny 2 drer erarsafien ganprod QesssHe 0 vz § o drar sransafidn speig

@ 5% . O ® 10%
©) 15% (D) . 20%
' ' 2 8 16 10
] ;2 816 .10
30. Find the HCF of 3' 9’ 81 an 37
80 : 2
1 ' 3
= , D =
© 81 - @) 80 i
2 8 16 10
18.Qur.el sraws — 39 81 27
80 : . 2
(A) 3 . . : B) 81 |
R | g - -
© 5 : O 4 |
» ' . - 18 S ‘ . : AMEGS/17
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31.

32.

33.

In a two digit number, the sum of digits is 11. If the digits are reversed then the new
number is 9 less than the given number. The given number is - '

Ay 47 o B 29
© 74 -_ 7 65

0 B® @we‘sa;.srsﬁwmﬂsb Qassnadilar m@Bsd 11. bg aanmenr GLwrppw Gaiwb Curg
L& Lifhu e, Aerési’ L aramenant oiit 9 Geppey crafléd Qan@ésiul L erer '
w ® 29

© 74 D) 65

A man earns Rs. 20 on the first day and spends Rs. 15 on the next day. He again earns
Rs. 20 on the 3 day and spends Rs. 15 on the fourth day. If he continues to save like this,

 how soon will he have Rs. 60 in hand?
_«#” On 17 day @ On 22w day

(C) On30hday - : : (D) On 40% day

g waliger apgd prafler mp. 20 svuTHss GBS BreT . 15 'Qm'm Qe&mmr. BawHd pperpmbd
BreT @. 20 bUTHEg pratsmd e @, 15 Qewelhprt. @dianGy asurr Cslliemus Ggmrdpmt
arafled, . 60 ereucueray F&dlyid amu@ osulld) QHEGID?

) (A) 17 gyeug prefie ' B) 22 gyoug prafie

©) 30 gyaug prefler _ (D) 40 gyeug prefied

Angles of a triangle are in the ratio 1:2: 3 then the tnangle is
(A) Equllateral triangle
(B) Isosceles triangle
W IRi‘ght angle triangle
(D)  Isosceles right angled triangle

-

o piGsrargden Garemmaar 1 : 2 : 3 erem eﬁkﬂ,spﬁa) BEiGer b @p&Gsrrewrm eI S
W&Canemmb?

'(A) . BDLIES @pés(%&srramb
B) Qmsouss psCarammnbd

(C) QraCsnemr &Garammd

D) Qmevuss QsmGaren WiCamemrid

AMEGS/17 | . 14 - . »



34. Ina fémily,'the father took % of the cake, and he had 3 times as much as each the other

members had. The total number of gamily members is
A 3 : . : ®B) 7

%10', | o 12

»

20 GHLUSSHD SHLLIeTTiT -i— urEn Gad sri@@fort. Gaum @@Lbu Lguﬁlmﬁmmu Gunéd apemy .

LG ot QupApTT. GBLU 2 gindeartsefer Qurgs cramamisma

(A) 3. . S B T
© 10 S D 12
2+~1—
- 34
35. If —15—- = x, then the value of x is
' ' 2+ T :
3+
. '1+_
. . _ | .
: (A). r B 7
. ' 8
\M’ 1. S D) 1

2+——1-I
3= _
S A 15 = x eredfle, x & wHOL wimgy?
2+ -
1
3+ 1 .
1+— -
1 3
® 7 ® 7
© 1~ S O =
S 7
» - 15 © AMEGSN7
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36. A rectangular courtyard 3.78 metres long and 5.256 metres wide is to be paved exactly with
square tiles, all of the same size. What is the largest size of the tile which could be used for

the purpose? . _
(A) 1l4cms : J 21 cms

(C) 42cms | o (D) None of these

3.78 B Liser erapid 5.25 5 a&w@fq 2 eoLw @@ Qysmyb Gy ereyetan silwirer s5In eBsmers
Qsmem® uriuliL. Causn. HCETEssHbars e uGLISLILESEEMmL glren Waldufiv
SHETGY eTetTen ? - : :

A 14Qs.8 ' B) 21Qsi8

(C) 42Qs.8 e D | Boasafio @dﬁgtﬂémw"

| 37. A sector of 120°, cut out from a circle, has an area of 9-3— sq.cm. Find the radius of the circle

@ lem ® 2cm

© 4em . & 3m-

0 mLL,’sﬁlaSi@jﬁgj Qeul g QuBpssiuc e 120° Ldrm"@@ AL s, 9-3-8§HJ Q@&.8. urLueTay
2 OLWIF. ULL-SHT YTEDHE ETRNSE. - |

B)  1Gss ® 2058

© 4Gs8 | . D) 3Qs8

38. A lawn is in the form of a rectangle having its sides in the ratio 2:3. The area of the lawn is

% hectares. Find the length of the lawn.

(A) 40m - ‘B) .33_%m

WSOm . - D 45m . . ;

@@ yoQeuafl enwgrend igem Lbsstiadr 2:3 cﬂ@gﬁ;@@ o dTer G Qi ageilé) o araTg. S
 ewgrengglen LTy s QansCLi crafld, sigen Sargeangs srains.

A4) 408 : B) 33% 8

(© 5018 ' (D) 458

AMEGS/17 6 | ».



39. Who was Crowned the Miss Teeh Universe 2017, held at Managua? |
.(A) Nieveles Gonzalez '
(B) Samantha Pierré
(8 Ary Trava

' w Srishti Kaur

wreTm@aimedle g;mLOug_iJg) 2 s e 1.-;&1 2017 wrhE@ @GLL-LUCL§?
A)  BCeuaev @GensTac

B) swpsT GGy -

©) gffigar

D Apsys et

40.  Which one of the following films won the best film on social issues during the 64t National

film Awards_?' _
(A) Dhanak ’ ' ®) Dangal
w’ Pink ' (D) Ventilator

64 G.ﬁé]uJVQQ)UUUI_ eflpraller seps Grssaan aiquusnLuJiras Qs fphs Sevrtiul_s@paren
Amg abs HepruuL.SEDG uPBIEILILL&?
(A)  srens | . (B) smuse

>

© Qs | D) QeucngGalLiv

- 41.  Whohas been appointed as India’s Ambaséador to Germany in April 2017?
W Muktha Dutta Tomar (B) Gurjit singh ‘ ‘
(C) Rajiv Rai Bhatnagar (D) RK Pachnanda

Qggironefiu By HE pHw gngsuune; gupe 2017 @ @uLﬁl&auuLL@ﬁ wn?
(A)  qpésr Lm L Gamoi B edssE
(C)  gngoe i um'.gf,rrsfr D) =7.Cs. LGBEHST
" 17 - | AMEGS/17
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42. Thgfndian coast guard ships ‘Aryaman’ and ‘Atulya’ was commissioned on October 2016 at
Kochi | (B) Vizag | P
(C)  PortBlair | (D) Goa

Qpdu  sLpLenL STaid  HOLD ‘o’ LHRL  ‘SiBowur  HGCLTUT 2016-6 oG

Bundésciu’Lg?
(A) Qarsé - (B) eweusns

(C) Gumil QGerw : (D) Gsmeur

43, “The sleepwalker’s Dream” was authored by - _
M Dhrubajyothi Borah (B) Virendra Kapoor
(C) Amitav Ghosh (D) Surendra Kumar

‘8 evediicu rr&s;r'r?ﬁLb’ Gren LSSES5®S Gl:@ﬁ weurt
(A) ﬁ@gcnﬁ Curmrgr (B) &SCridly sy
©) hgeu Ganeg (D) &Copdr @wmi

44.  The Nobel Prize 2016 for Medicine was awarded to
Yoshinori chsumi (B) Duncan Haldane
(C)  Jean Pierre sauvage (D) Bernard-L-Feringa

DS GIeu gja)g)éaénw 2016 sy %w@ Gprue eflmhg Gubpeui _
(4)  CurélGamifl gy s B) Lenger gbrrd)@;é’t :
(C) g 9CyM sCeugy (D) CGurenm_ ered Guilissm

-

45. The -4tb BIMSTEC summit in 2017 is to be held at
(A) Sri Lanka _ : _ (B) Dhaka
W.- Nepal - _ | (D) India

_ 2017 cg,sm@ Brensmeug) (19.g.6Td.era.1q.u9.4.) 2 &8 WIBIE eTriiE ;wn.@u,ro e..mmgl? '
. (A @a)ma)s B) vLnasr
€) Gpumer - o D) ppHwr
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46.

47.

“Nomadic Elephani; 2017” the joint Military Exeréise of India and Mongolian Army was
held at R

(A) -_Nagalénd ' Co : (B) Tripura
(C) Guwhati _ | an’ Mizoram

“Cumomg s eredluem 2017” @;B@u_nr--m:éjcsnsﬂu_m QLG Qeoahs Trae LGN awg
BenL dubng? ' - ' ‘
(A) '. ,rﬁnarra)ng)g _ " (B) 'ﬁrﬂqi;rn,.

©€) Eaurss - - (D) 5Gsmpp

A nuclear powered ballistic missile submarine launched in recently
(A) ICGS - Aryaman -

(B) INS — Tihayu
" INS - Arihant

(D) ICGS - Sarathi

Qaulg MBS Ga;rraim._ Birappd Lﬂqr‘élﬂ G gaysamen sHCUTE HpeuluLLg.
Ay -mﬁ@ﬁm - gy fwiores |
B)  gerarere ~ Saryy

(© meTanera — <y flanhs

D) ghgeco - smrf

48.  World’s biggest solar power plant dedicated to the nation is located in Tamilnadu at '

W Kamuthi = (B) Pudukottai
(©) Kambam D) Paramakudi.

- BTl HEG a{g’)umﬂe‘ssuuLL :z_m_a;_arsﬁ]di Bad Quiiu @fu wdpd Heaawd SODPHT g6 eTRIG

SINDBGIETETSI? .
" (A) &(y@ . ' B) uygsCam oL
(©) sbubd _ , (D) uvrwEs

19  AMEGSN7
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49.  Corpus Luteum is formed from o
(A) Corona radiatia _ : M Graafian follicle
(C) Zona pellucida _ (D) Primordial follicle

Paupble @mbe sTiTuen @ugud 2 Heurdeng
A) &Cyreur Cuaq.GuJLL.rr (B) &gl Nwer urellEfled -
(O Gsrenm Quargyélr D) @z Henew unefladled

50.  In the following crystals which is the Piezo electric crystal?
{A) Diamond ' w Quartz
(C) Sodium chloride @) Silicon

SpsaenT uﬁ.‘slﬁ&aﬂd) agj 5Car- Sk eﬁ]s;rmm Uy SLOFED?
(A) eend B) @GeurTiew
(€C) Camqub @Gerrengl D) Adssren

51.  The process of improving human race genetically is called

W Eugenics _ (B) Euthenics
(C) Euphenics (D) All of these

wrwo fFHurs u;aﬂg Ggems GbLBSHD Wwen
A)  yGgellsen B) wlsefaen
(C) wQuelisev D) Gowou ievenGgbd

52. ° Which of the following is preferred for accelerating electrons?
Betatron . o (B) Cyclotron
{(C) Van de Graft Generator (D) Synchrotron

" Bpa@TLGuDIIGT 618 &L Trane & lPeushE LwuaTLBHAng?

(A  Siorlgren B) esaGovmiymen -

©)  enén g Hymi’ QmenCrii i (D) AenaCrwl_ymen
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53.

54.

55.

Which among the following is correct?

Alloy o " Composition
(A) Duralumin : Al+ Cu+ Mg+ Ag
- (B) .German silvér ;. Cu+Zn+C
% Gun mei:al : Cu‘+ Zn + Sn
(D) Solder : ~ Pb+Al

&paramueupiies sfluner eflen org?

e Corad semel Geowy
@A)  gurgdar: - Al+Cu+Mg+Ag -
(B) Qgiwer fdeuir: ~ Cu+Zn+C
(C) sen2CGarsb: - Cu+Zn+8n
D) sreoL: Pb + Al

+

By selling 33 metres of cloth, one gams the selling price of 11 metres. Find the gain percent.
(A)  25% _ (B) 30% |

©) 35% | ' P 50%

@Heut 33 Bt gefleow efipugen aped 11 BLL mésmar aflpuemer eﬁlmwmw @wtrum:ra;u
Qupdlpn, eTesfied Breugz MU eﬁ]@mm_cm_as sawr(Glig.

(A) 25% . - | , B) 30%
© 35% | -_ D) ~50%

The conductance due.to ions present in one cm cube of material is known as
(A) partial conductance ' . «speciﬁc conductance

(C) equivalent conductance .(D) molar conductance

B0 ser Qe.15. sieraydtar Qurmeficr 2 dier Dwiafisefien &L.gg Hoen Gesaury sifluiu@hamg)

Q) uEfuae sLjgifiper B)  Huw s _gHpe
(C)  swrar SLSGIHmeT (D) Curert &L_ggHmen

21 | - AMEGS/17
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56. Match the following :

(a) Chloroplast 1. Hereditary unit
(b) Gene 2.  Photosynthesis
(c¢) Prokaryote 3. Waldeyer
(d) Chromosome | 4.  Bacteria |
(a) (®). © (d
Aa 1 2 4 3
®B) 4 3 1 2
) 2 3 4 1

M 2 1 4 3

- Qurmsgs :

“{a) uvshs&ASELD 1. urfr;d;uﬁhu SVG
(b) wrugn _ 2. @aﬂ#@&ﬁéms
© yCrmGafCum_ - 3. su.rrsbGLu_n'r
{d) @Gr,rrr(?mur(‘&érn.b 4. unéefwr

@ ® 9 @
&)

1 2 4 3
®) 4 3 1 2
© 2 3 4 1
™ 2 "1 4 3

b7. Complete the given equation of o_xidation of gli;céose. ,
CeH,04 + 60, —
4 3CO,+2H,0+Kcal

& 6CO, + 6H,0 + Keal

(B) 3CO, +6H,0+Kcal
(D) 6CO,+2H,0+Keal

£Cp QsrR&aLu’_[Reren @@&G&m’u %&aﬂ@(ﬁmmw ém@un&qmm‘gﬁgﬂ Qalis.
CcH,0¢ +60, >

(A) 3CO,+2H,0+Kcal (B) 3CO, +6H,0 + Kcal

©)  6CO, +6H,0+Keal (D) 6CO, + 2H,0+Keal
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58.  ‘Titan’is the _
Largest satellite of saturn’ o o,
- (B) Smallest satellite of saturn -
~ (C) Largest satellite of mars
(D) Smallest satellite of mars

‘e Len eTewLIg) _
A gefllen a0 Guilu gimersGaner
B) salular fiss AP gaoersCarer
. (C)  QacueumSen Bsr Quius gienatEGETeT
D) G_&Gij_wrruﬁldr D&& Pl gienemaGamrar

-

59. Jogfallsis lqcated on the river

_(A) Budh river 'V o (B) - Siruvani river

(C) Pazhayar river ! Sharavathi river

Cagnés BireSpss) sieniopgiarer pm |
A u ' _ ' - B Agesresf ’

(O upunrr - ' - (D). eggraud

60.  Bergeron process is ass'ociated with
(A) Avalanche

« Rainfall
(C) Glacier |
(D) Global warming

QuirQggyen Qewidd @D GseuL e G,m_r'rumng

{(A) uef&siiey .
(B) mmgpp@uw@eq_
) uaﬁmrrgl

(D) yef GeulinieL

» o 23 - L AMEGS/17
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61. Multinational Corporations are also known as
(A) Foreign Direct Investment
{B) International Corporations
W Transnational Corporations
(D) Multilateral System

uerenT_(H Spsmsemar wHADr cuansuNd creueumm alml‘.pés&wnm?.
&) saefiu Corg s
B) ueaer @ asg;aéfo

(C) prpsepsden_Guimes SQamSET
D) -  uenaps wern '

62.  “Taxable capacity refers to the tax burden which the people can bear in a country” was
' given by '

(A)  Prof. Musgrave

W Prof. Josiah stamp T
(C) Prof. Shirras '
(D) Prof. Adam Smith
aufl griugo Smer eramug Bl iged o arar DésaTTé) goms Carardlenm qufls &mw@n@m grdTL:éngs
eflersdluiguir '
(A) Cuprdfwr. wedCrey
(B)  Guprilfiwi. Cgrenswir oL mibl
(©O) Gupgréiftwr. efigmev
(D) Cugrdflwd. gy, 1b evdls

- 63. NTCP refers to

(A)  National Tuberclosis Control Programme
National Tobacco Control Programme

(C) National Thyroid Control Programme

(D)  National Thermal Power Control Programme-

NTCP eresuig

@) Caflu srsGpmi s GrILNLGs Hrtd

B) Czéluymstlae &L@ﬂunf_@g S Lib
©) Gplw ergpmi® s G B S b

D) Czdw emed Wleemy s HUOR_ (S HL b
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64. Match List I with List IT and select the correct answer using the codes given below :

List I | © List II
{(a) Mumbai 1. . TRAI
() Delhi 2. VSNL
() Private Sector - 3. MTNL
(d) GovernmentofIndia 4. BSNL

(a) ® (© @

“

4 2 1
® 2 3 4 1
© 1 2 4 3
® 3 1 4 2

sflwunareupenm Qun@ggla;. &Cy Qanpéaslu_Herar GHuiGaemer LwauBSgeb.

utgued I _ . ulgwen IT
(@) qpbeu 1. TRAI
(b) QL@ 2.  VSNL
" (). gefwni g 3. MTNL
@ @pdu s 4. BSNL

@ ® © O

@) 3 4 2 1
® 2 3 4 1
© 1 2 4 3
D) 3 1 4 2

s

65. Who among the following formed the forward bloc party?
(A) Govind Ballabh Pant _ M Subash Chandra Bose
(C) Jayaprakash Narayan (D) Rash Behari Gosh

Epananueuia@ser untreui Qemms s Aeow Cpmppelddsaui wimi?
(A)  Gamedlb Ldall UpE " ®)  sunds spHrGumey
(C) Qguifgsnay BrymuemTen . (D) gmels Quanf Garely

» - - 25 - ~ AMEGS/17
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66.  Match List-I with List-II and select the correct answer usmg the codes :
List-1 : * List-II
(a) Actof 1909 All India Federation
(b) Actof 1919 Abolished the post of secretary of State
(¢) Actof 1935 Communal Representation
) Act of 1947 '

I S

Dyarchy in the provinces

(@ ® (c) (d)

@ 3 2 1 4
®_2 - 3 4 1
v’ 3 4 1 2
(D) 4 - 3 2 1
&Cy Qsr@Bésiul_Perer GHluiGsmers Qsnawr® ut.tq.ma') I-g ulqwe Il-o1 en Qurarsd sflwrer
dleoL@mw Caiey Galis.
Ul g 1 utiguse IT
(@) 1909-b geaw(® sl b 1. seapdpdu s’ mn A
® 1919-b g siind 2. @pHusQswar uged FEsLLESD
(© 1935-bgerGeid 3. - agluyeart rddHsseud
(d) 1947-b @R FLth 4.  wriegfde Griemwr 4§

(a) ®) (©) ).

(A 3 2 1 4
B) 2 3 4 1
© 3 4 1 2
D) 4 3 2 1

67.  'Who handed over the presidentship of the Indlan Independence League to Subash Chandra

Bose in Singapore? .
(A) Lakshmi , (B) V.D. Savarkar
f” Rash Behari Bose . : (D) C.R.Das

@p&u eﬂ@,scna)s spsifiar gawemwol GurplienLs é]msug,nﬂco MeuSE HUMEY apﬁucurr&ll_m
gauuem_ggmrr wmri?

(A) . edpd . B) &by seumiad
(C)  gmaiy Quanfl Gumad o D) Ay grev
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68.

- 69.

70.

-

| Bj whose teachings Syed Ahmad of Rae Bareli, the leader of the Wahabi movement in India

was mﬂuenced‘?
(A) Sir Syed Ahmad Khan ' M Abdul Wahab

(C) Abul Kalam Azad o (D) Maulvi ChiragAh'

@pdumeile surrgmrrl_‘ﬂ @u.la’.&,s@w HHVCUITET, Gl;r u@ryaﬂsnu.l& SIS, g ¢3-|$LD§| WL

. Gun§mmmrrm FTESUIULEL TiT?

(A) i @swg DswgETEN ’ o (B g asm
©) Sy sambd ot D) ~Quoerdahl Higms oied |

Consider the following statements and select your answer.

Assertion (A) : . Humayun did not behave like a Stat_ésman.

Reason (R) " . He pardoned again and again those who revolted against him.
Both (A) and (R) are true and (R) is correct explanation of (A)

(B) Both (A) and (R) are true and (R) is not correct expl,anatmn of (A)

(C) (A)is true but (R) is wrong :

(D) (A)is wrong but (R) is true

Spsrgmd sunsHwgdlad erﬂwrrs&rmgbq)m Caipbs®.
saD@I(A) D QmomyuLes e Trgsbiluns pLEg Gardereildame. |
smremd (R)  :  Sieud genenen adiss swab Qeigauismer BarRL Bar B waralssri.

' (A) (A) vppd (R) @wwr@(%m &fl, Gmgzju) (R) ararLg) (A) fH@ sflwirer ellatésid

(B) ~ (A) LopGID (R) @ner(®ib &fl. Cogyd (R) GraTug (A) g shlwuren eflerédsindem
€) (A)sh yyema (R) geumy
D) (A) soupy. gpemmed (R) sf

Choose the incorrect pair regarding the Tamil writers.

‘Kuppuswami Mudahyar —  Dramatist
{(B) R.Krishnamurti - Short~s_tory
(C) C. Rajagopalachari ~  Essayist
(D) Subrahmanya Bharati = - Poet

Ep&aTL DMXTHG) @mm&@m SOp a@mnmrresa)m& &rrrr;bﬁmm @@w &g geupnen @mw? _

@A)  @uuyetd pgdwrt - - BILED
B) R.fmpeagemepisd @~ - Snsws
(©) C.yrgCsmunersemfl — sy
D) sUupwesiu umS - seflanggar (Lm_d&er)
27 | . AMEGS/17
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71. Bindusara was known as Amitrochates, to the Greeks which means

(A) Man of wide interests

W Destroyer of foes

(C) Universal monarch’

(D) Congueror of countries | _ .

bg st HCréaTaERES auﬂgcunm_dﬁ oren piflwiuc L. sllsCrrasv crénmrrc;.'o
A  vednlLksmas Qarar weafllsi
®) aPfsmer oifiuei
(©) aroeraunfn@n &GS wres wereart

| D) pr@semer Geudfmsufr

72. Who was called as “Tathaéata”?
\0/ Gautama Buddha (B) Mahavira
(C) Parsvanath (D) Vikrama

‘BHNEGN TN DENPESLILILL QI Wrir?
(A) Qsergo ygsT | ®) Lo&TedyT
(C) unmirseu ;ﬁ'rrgr'r . D) _sﬁlé;r;mr’r

73.  The Jain cave temple at Sithannavasal is situated at
(A) ’I‘richy

Ramanathapuram

W Pudukkottai

(D) Chidhambaram

.élg,sdrma.lrrmﬂé) swer Camulled sienwpgiater QL b e1g1?
A  Pmsd

B @rmoprsygd

(ON .qgei;(zesm.'_mt_

(D.) Sgburd
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74.  The first country to develop a scientific system of recruitment was - : where

recruitment through competitive exams was first introduced in the 274 century.
(A)  America _ (B) Britain

" China | (D) Prussia

Gumlig Gsirey qpenm Qpemb @rarLmb prpprey Getu sidiefiue e g Caruy BLgdhu s

LIC]
A)  =Quissr ' : B 9flLen
© Sam D)  Graywm

75. The 1nst1tut10n of Ombudsman was first put into operation- in-

(A) Turkey _ | MSweden

(C) Cuba - (D) Argentina

‘équdumnshT‘ ST <BieMLOLIGOLI Qs 2 meursdul BrH argi?
@ swsd - (B) cveSLem
(C) aﬂg,urr_ _ | (D) ar’r@gs&rlq.e_mr

76. Which one of the following article deals with the adjudication of dispute_s relating to waters

of interstate river or river valley?
&) Article—257 - (®) Article - 261
\pf Article —262 - (D) Article — 263
| g oHlg mrr;f,]a;mss@es@ @wq_u_‘ﬂeorrm LS .:91930)51 <O uararggrras@ il u;p;ﬁ] QUEHLD
ajgga;@amm ellsmilé@n Famyb um;ﬁ] emgjé]g_r)g}? :
A) 9H-257 - (B) o05-261
| 9 -262 | D) HH-263

» | 29 ' AMEGS/N7
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77.  Which Commission recommended 27% reservation for backward Communi_tiés?-
(A) Sarkaria Commission ' Mandal Commission.
(C) Kalelkar Commission (D) ‘Shah Commission '

1515j)u®§§uu'l'_(3|_rr®$@ 27% @gsd® eupis Lfipger Aeug syeeamb wng? '
(A)  srsrflur D@D (B) wer_é yenemTD '

(C) aGadslh gemarmuibd D) agr ymewrd

78.  Judicial Activiem refers to
(A) Activity of judges
Expansion of jurisdiction of Courts
(C) Loss of jurisdiction of courts
D) Orders issued by the Courts

Bufen G&tua)m'_e;l GTemyTed

&) BHudsafien Qe gperp

| ®) fHuwapiasaien afsTr aome By
(C) pPovaprsalcr sfany aoame HmEsD
D) . BHwenpriser mQIﬁJ@Lb 2 $greyser

79.  The President of India may resign by addressing letter of resignation to
(A)  Speaker of Lok Sabha |
(B) Chief Justice of India
(C)  Chief Election Commissioner of India
W Vice-President of India

O @lq,u_n;a'rg'.gmmsuﬁ.gdr u’n@mnm}r &Sig GG wimflL1d @Quml_e';as Geuar(Hid?
(A) més&m;z)m SUMBMUST '

B)  @pdu shwmn SHUS

(C) @BHuseemis Coig sHar

D) Qbflu @uwrs gevans smeat
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-80. Find the leaét number which when divided by 6, 7, 8, 9 and 12 leaves the same remainder 1
in each case ' :

@ 504 - - 0(:30_5

(C) 253 . | D) 167

6,789 ngj)'gub 12 erény ereimsemié aUEGEEILGL AUIYE eaGaTD amssED 54 1 a.;@lb Slas
Hidhw ereirenems SGE. '

- (A 504 ' B) 505
(© 253 - ® 167 ¢

81. The traffic lights at three different road crossings change after every 48 sec, 72 sec and
108 sec respectively. If they all change simultaneously at 8 : 20 : 00 héurs, then at what.
time will they again change simultaneously? ’

(A) 8:20:48 hrs I (B) 8:21:12hrs
(C) 8:21:48hrs ' M8:27:1'2hrs"

'(Eurré;@sulygg .atﬂéssm@ eﬁlm{s@esé'r apary QeucuCaug sreneé shdllysatic wapGuU GaQeunm
48 eflemmqaar, 72 eflemmg sa LHHD 108 eflemmy.sEpéaL Ber windng. Sime aadarto 8 : 20 : 00
oexfisafid Gy Corgfa wrdlana, Sam@uo eruGurg diee aCr CrrgHd wrmn?

(&) 8:20: 4Buvadsar B) 8:21: 12 wewaer

(C) 8:21:48wefladr . (D) 8:27: 12 weflsar

82. Find the missing number 5, 4, 8, 9, 11, 14, 14
~ 19 - ®) 17

€ 21 ' D 16

A REstul L eremanest sme 5, 4, 8,9, 11,14, 14
@ 19 . ®) 17
© 21 ' @) 16

» 1 . AMEGSN7
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83.

NT-1 J7+1
If =
\/’?+1 -\/'?*1

A

ﬁ—1+s/'?+l_
T+l 711

(A)

a+ bﬁ find the values of @ and b

a+bﬁ erafley a, b-ulen m@ﬂq&;mm&rrs&ra;

5
=2 b=
B) a , O 0

a=0 b

5
) 3

84. If x.+ 1 =5 then the value of x° +_x% is -
X .
@& 90 q/ 110
(C 120 D) 80
1 g 1 PPy
x+=="5 erafléd x” +— -ufen iy
x x
A 90 @B) . 110
€y 120 @) 80
85.  If /2116 = 46 then the value of ¥21.16 + y0.2116 ++/0.002116

< 5106

© 5.122

B) 5.116
D) 5.221

V2116 = 46 arafié> ¥21.16 +/0.2116 + /0002116 -udéit o

5.106
5.122

@A)
©

AMEGS/17

B) 5.116
D) 5.221
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86. A can do a certain job in 12 days. B is 60% more efficient than A. How many days does
B alone take to do the same job? ' '

(A) 8days B) 7days

M?% days o ) D) 85 days

A g Cauemaanu 12 prisafted Qeinns sa@b. B aerueui A g6l 60% 2idls fpewwaweur.
<G5 Gaumamw B ot Bib (piy &6 Tésman Biad aBésis Qanatauni? ' ‘

@ 8 S e T |

© 7% _ (D) 8L

87. 3729 %27 =7 |
@ 9 | | ®) 7-

'u_;(s_  oon

Y729 - 27 =2

@ 9 o o o® T
© 6 S ® 11

88. The least number of complete years in which a sum of money put out at 20% compound
interest will be more than doubled is S
@ '3 L
© 5 | . M) 6 .

L]

20% &L@_.QJ!.._IJ}. Adgshe emeusaliul L @m Q,srra)es BQHLLEIEGES CLéd 2eusHES Lﬁé&iﬂ@j‘ W

S CE
@ 3 | | ®) 4 |
(© 5 . ' D) 6 ’
» | . 33 | . AMEGS/7
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th

39 Leela reads i of a book in 1 hour. How much of the book will she read in 3%- hours?

. 7
t \[ - part
par 3 p.

part | ' (D) whole book

(A) -

|l ofier

YO

Sor eremat @ USSESH6n % ugfeou 1 wal Cprsde unss epylurt aefld Lbsasdd

ereueueTay LIGHaw 3% wenll CrrsHe LigLiumi?

5 ' : -7
@ = ued . ®) 2 ued
6 8
(C) 3 ugd . - D) ysssD PAIGID
90. If%=%=; then 2*2*€ 5 equal to
- ¢
@ 7 A 2
1 1
o = =
© 3 | © -
a_b_c¢ erefied atb+c Spaseim_eupi ib SO,
3 4 7 ¢ TeRnEaPpeD se \
@A 17 B) 2
1 ' 1
o = d
© ® ;
91.  “Chronicle of a last summer” was a fiction written by
(A) Charlie Jane : _ (B) “Anitha Nair -
(C) Margaret Atwood P Yasmine El Rashidi

“GGrraflad <y emevl s et Lflambd erpduie | .
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92, “Brahmoe” Sea-to-Land attack Missile was first tested by Indian Nav3.r on
& April 21, 2017 o _ (B) May 21, 2017. ‘ S
(C) April 13, 2017 ' (D) March 13, 2017

@pdw soupueL “QnoGuorep” GI'GEI]D SLeﬂaﬂ@pg @mgﬁm@ FasmemTan) ngsan (505566]9)

- eiGungy Gsrrg;ansm Qewipg?
@) gure?21,2017 | ®) Gio21,2017
©  gue13,2017 @) wnis13,2017

93.  Which one of the following plant is grown mainly.on mountain slopes"

(A) Paddy n " Tea

© Groundnut ' ' ' (D) Potato
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94, Fake News can be tackled by Google 8 New launch code named as

M Project owl

(B) Pro;ect virus
€y Projeet tiger
(D) Project clean.
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95.  “Yatri Mitra Sewa” launched by Indian railways focus on
(A) Doctors - '
(B)  Children

@ Differently abled
(D) Transgenders -
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96. The first city in the world to get its own Microsoft font is

 \g#” Dubai : (B Oman

(C) Saudi Arabia (D) Qatar
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97.  On which planet the Second Great Spbt was identified by scientists recently?
(A) Uranus ' : . (B) Neptune
(C)y Mars \M Jupiter
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98.

99.

Ghana, Kenya and Malawi are countries chosen for malarial vaccine trial by WHO from the
year ' ' '

w” 2018 o S ® 2017

(© 2020 - | (D) 2022
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(A) 2018 _ (B) 2017
© 2020 - ' D) 2022
- India’s first 114 km long stretch green rail corridor was launched between _ ~

(A) Rameswaram — Paramakudi

- (B) Rameswaram — Madurai

W Rameswaram — Manamadurai
(D) Karaikudi — Rameswaram
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- 100.

Marlyappan Thangavelu from Tamil Nadu won the gold medal at 2016 summer
paralympics for which sport"

(A)  Javelin Throw saf High Jump
(C) Shortput : (D) Shooting
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Read the following instructions carefully before you begin to answer the questions. -

10.
11.
12,
13.

IMPORTANT INSTRUCTIONS

The applicant will be supplied with Question Booklet 10 minutes before commenoement of the
examination.

This Question Booklet contains 100 questions. Prior to attempting to answer the candidates are
requested to check whether all the questions are there and ensure there are no blank pages in “the
question booklet. In case any defect in the Question Paper is noticed it shall be reported to the
Invigilator within first 10 minutes and get it replaced with a complete Question Booklet.
If any: defect is noticed in the Question Booklet after the commencement of examihation it
will not.be replaced. co

Answer all questions. All questions carry equal marks.

You must write your Register Number in the space provided on the top right side of this page. Do not
write anything else on the Question Booklet.

An answer sheet will be supplied to you, separately by the Inwgﬂator to mark the answers.

You wﬂl also eneode your Register Number, Subject Code, Queetmn Booklet SI. No. ete. with Blue or '
in the space provided on the side 2 of the Answer Sheet. If you do not encode
properly or fail to encode the above information, action will be taken as per commission’s notification.

Each question comprises four responses (A), (B), (C) and (D). You are to select ONLY ONE correct
response and mark in your Answer Sheet..In case you feel that there are more than one correct
response, mark the response which you consider the best. In any case, choose ONLY ONE response for

each question. Your total marks will depend on the number of correct responses marked by you in the
Answer Sheet.

In the Answer Sheet there are four circles @) ,@®. © am_i (D against each question. To answer the
questions you are to mark with Ball poirit pen ONLY ONE circle of your choice for each question. Select
one response for each question in the Question Booklet and mark in the Answer Sheet. If you mark
more than one answer for one question, the answer will be treated as wrong. e.g. If for any item, ® is
the correct answer, you have to mark as follows : . '

@000

You should not remove or tear off any sheet from this Question Booklet. You are not allowed to take
thm Quest:lon Booklet and the Answer Sheet out of the Exammatlon Hall durmg the examination.

The sheet before the last page of the Quesuon Booklet can be' ueed for Rough Work
In all matters and in cases of doubt, the English Version is final.
Do not tick-mark or mark the answers in the Question Booklet.

Failure to comply with any of the above instructions will render you liable to such: actlon or penalty as
the Commission may decide at their discretion.




